Medidas de titempo-
(de forma incompleja o compleja)

SOUCIO o
+ Pasav de forma incompleja v forma complejou.

4 10032y 5> 2 W47 minvl2 g

10.032s |6O
403 167 |60
432 47 min 2h
12s

& 585 minv > 9 W45 min

585 min |6O
45min 9h

a4 9304y > 2NW35minkgsy

9.304s |6O

330 155 |60
304 35 min 2h
04s

a 1.234 minv > 7 30 minv

1.234min| 60

034 25h
4 min

612307y > 3h25minw7 g

12307s | 60
0307 205 |60

07s 2 5 min 3h




a 1.832 minw > 30 32 minv

1.832min [60
032min 30h

a 853y S 14minwl3y

853s |60
253 14 min
13s

A 3487y > 58 minw7 &

3487s |60
487 58 min
4 0 min

4 10.800y - 2 h 40 min

10800s |60
480 160 |60
000 4 0 min 2h

& 280 mivw —> 4 40 minv

2 8 0 min |60
40min 4h

a7.342 y 5> 2 v 2 min22 g

7.342s |6O

134 122h |6O
142 02h 2 h
22 min —
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a 282y > 4 minw42y

282 min |60
42min 4h

A 5342y 51 Nh29 min2 &

5342s | 60
542 89 |6O

02s 29h 1h

Aa7.605y 5 2h6min4gsy

7.605s |60

160 126 |60
405 0 6 min 2 h
45s

a4 18342y > 5h5mini2y

18342s |60
0342 305 |60
42s 05 min 5h

4 19.005y - 5N16 min4s g

19.005s |60
100 316 |60
405 16 min 5h
45s

& 384 > 6 minw224 y
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